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P =0.007 P =0.002 P =0.0001 P=0.016
100% 100% 100% 100%
80% 80% 80% 80%
60% 60% 60% 60%
40% 40% 40% 40%
20% 20% 20% 20%
0% 0% 0% 0%
non-DE DhE non-DE non-DE non-DE
= MUT-MYD88 =mWT-MYD88 = MUT-CD79B = WT-CD79B =EMUT-PIM1 = WT-PIM1 = MUT-PRDM1 = WT-PRDM1
P=0.032 P =0.048 P =0.029 C P=0.0016
100% 100% 100%
’ ’ ’ P=0.048
0, 0, —_—
80% 80% 80% 100%
60% 60% 60% 80%
40% 40% 40% 60%
20% 20% 20% 40%
20%
0% 0% 0% 0
MYCh DE MYCinter DE MYChi DE MYCinter DE MYCh DE MYCinter DE ¢

int
(DhE) (DhE) (DhE) DhE MYCinter DE  nonDE

= MUT-CREBBP = WT-CREBBP mMUT-CD79B = WT-CD79B = MUT-PRDM1 = WT-PRDM1 = MCD =non-MCD



